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gfe A =2i+4j—
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@) 7z s 7

(C)ﬁ, W

DI - 1 3ifepa g yuTa fe@mar 8 2
(@) Na (b) Mg
(c) Pb (d) Sc

e & @ 5w sfufsar & ey &1 FRer 3.

famar uftafda g sman @ |

(a) SN* (b) SN?
(c) Free radical substitution
(d) SE?

TP At d ) TP DI BT do & HITeHH A 4.

393! dars A ufkad= feu fa=m guman simar 31
|AZ| TYUT Aa BT U HHI: §

(@) o, add (b) ad®, o

()0, 0 d) STH I DIS

Fa A AP ITalc S R & - 5,

OEYSES
(c) @RRR) x 34

(b) TARR x diee
(d) TERR /e

TSP dcd TH B g1 STAHIHUT &HAT HTIIH 6.
Sl &

(a)ijﬁﬁ'rcrer?%wnﬁwsaaz:h%wuﬁa

gal

(b) T & TRI1g &AM & UH 1§ Th A
ERCHRRRCAK

(c) T & T B T 410 % T B &
SAIdCIA o1 U HId HobIet
(d)ﬁ?ﬁumqaﬁasqaﬁnﬁa@rs—ama?znﬁa

TEEA, CO @yT HCl & AICI/CuCl @t 7.

SurRfa & fobar #¥db p-cguicssgs a-mar
%lswarf‘mrﬁmaﬁﬁ?r%

(a)ucu—uﬂ T EEREEL LY

(b) e - P Srffoar

() TSR — 18 siffopan

(d) T Siffpa

cVv’ 31 fam fufeafaa fwei A g v@are - 8.
@ [L21] (b) [L2 1]

(c) [LI"] (d) [L/LI]

sk afexr A 9t s at L

no

IfA = 2i+ 4j — 5k the direction of cosines of

the vector A are

2 4 =5 2 3
O mwm Om==
PR nE 2 5
O=04  OZ.EE

Which shows inert pair effect?
(a) Na (b) Mg
(c) Pb (d) Sc

The absolute configuration of a molecule
changes during which of the following
reactions?

(a) SN* (b) SN?
(c) Free radical substitution
(d) SE?

A vector d is turned without a change in its
length through a small angle d6. The value of
|Aa| and Aa are respectively.

(@) o, add (b) ade, o

() o,0 (d) None of these

Which of the following is not equal to watt —
(@) Joule/ second (b) Ampere X volt
(c) (Ampere)? x ohm (d) Ampere/ volt

The second ionization potential of an element

M is the energy required to:

(a) Remove one mole of electron from one mole
of gaseous anion

(b) Remove one mole of electron from one mole
of gaseous cation of the element

(c) Remove one mole of electron from one mole
of monovalent gaseous cation of the element

(d) Remove 2 moles of electrons from one mole
of gaseous atoms.

Reaction of toluene with CO and HCI in
presence of AICI3/CuCl to vyield p-
tolualdehyde is an example of :

(a) Gattermann aldehyde synthesis

(b) Gattermann Koch reaction

(c) Reimer — Tiemann reaction

(d) Stephen reaction

The Dimension of CV? match with the
dimensions of —
(b) [L* 1]

@I[L N
(©) [LF] (d) [2/L1]
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RITRIo1H Full Length Test
s "
9. ufe L 3R R wH: Wb R ufaw §aF 9. If L and R are respectively the inductance

L/R & fawm gir:- and resistance then the dimensions of L/R
(a) [m°L°T ] will be :-
(b) [M°LT] (@) [m°L°T ]
(c) [m°L°T (b) [M°LT]
(d) M; L 3R T & &0 & ad gl fobar o () [m°L°T]
b dT| (d) Cannot be represented in turmof My Land T
10. =R A Al,O;, SiO,, P,0; and SO, s =ifed  10.  Among, Al,O3,Si0,, P,05 and SO, the correct
PTAS FH S order of acid strength is
(a) SO, < P,0O3 < Si0, < AlL,O3 (a) SO, < P,03 < SiO, < Al,O3
(b) SIOZ <S0O, < A|203 < P,03 (b) S|OZ < SO, < A|203 <P,0;
(C) Al,O3 < SiO, < SO, < P,0O3 (C) Al,O; < Si0, < SO, < P,04
(d) Al,O3 < Si0, < P,0O3 < SO, (d) Al,0O3 < Si0, < P,0O3 < SO,
11. &<t o1 & o1 § aRad= a9 gidi § oa:- 11.  Acceleration of a particle change when :-
(a) o1 gfkad &1 fe=m (a) Direction of velocity change
(b) 71 URad= o1 TR (b) Magnitude of velocity change
(c) STYad Gl (c) Both of above
(d) 7 & e (d) Speed change
12.  BeCOs(l), MgCO; (11) 3R CaCO, (111) PISIT@e  12.  Lattice energy of BeCOs(1), MgCOs(11) and
PUAS: CaCOs(111) is in order:
@ I<li<H (b) 1> 1> 11l @lI<t<nu (b) I> 11> 11l
@ 1<ll<ll dn<t<ni ©I1<ll<ll @dn<i<ni
13. 7T Y B AT B | 3Mad IRVt F 3ffad 13, Point out the wrong statement. On moving
N [ A 3 horizontally from left to right across a period
LELALE = w in the Periodic Table
(a) YTg T[0T ¥ § (@) Metallic character decreases
e (b) Electro negativity increases
(b) 93 G St 8 (c) Gram atomic volume first decreases and
(c) UTH URHTY] HET Ugd el § 3R fh sedt & then increases
: , d) Size of [
@ 31 % fiu - T3 (d) e||gren gnttshe atoms increases for normal
14, TSI BI 100 MR [APS FATH AU FW 14 An object is projected upward with a
o1 3R e forar wraT 8, U8 (@TH) & 918 velocity of 100 m/s it will strike the ground
S | THRI - after (approximately) —
(@) 10 sec (b) 20 sec (a) 10 sec (b) 20 sec
(c) 15 sec (d) 5 sec (c) 15 sec (d) 5 sec
15. ot fra gu fis & 9wa wf¥® siRT@ A @@ 15. The ratio of the distance traversed, in
B TS g FT UG @ - successive interval of time by a body, falling
(@1:3:5:5:7 (b)2:4:6:8:10 I;;’T_rgs_t’sérsef? (5)2:4:6:8:10
(©1:4:7:10:13 () FHIPRFE (c)1:4:7:10:13 (d) None of these
16. fr=fif@d tfepa dagsi # @ #19 - W SN' 16, Which of the following alkyl halides will

forafafd & Srgar srfifehar & |
(a) FARUCA

react according to SN* mechanism :
(a) 1-chloropentane

(b) 2—methyl—-2—chloropentane

(c) Neopentyl chloride

(d) 2—chloropentane
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RAIo1H Full Length Test
’-_:I-' H
17. 9Rdel a, b, c 3R d Pl gAaei® @e==Te:  17.  The electronic structure of four elements

18.

19.

20.

21.

22.

(i) 1s° (ii) 1s%, 252 2p? a, b, cand d are:

(iii) 15°, 257, 2p° (i) 15°25°2p° (i (i)1s, 25°2p°
. . (i) 1s%, 257, 2p°  (iv) 1s°2s°2p
ﬁ@wﬁﬁaﬂﬁwﬁmm@?ﬁ%: The tendency to from electrovalent bond is
@) (i) (b) (ii) greatest in: -
o bl
frafaf@d # ¥ @19 91 9% T 9= afd S 18, Which of the following graph represented
T HRAT§ - uniform motion —
S S/ S S/
@ 15 | (3) f— b —
S S S S
(©) ‘ZL*t @ (©) ‘4L*t @ 5 "
P AT ITH THTH &R0 HI RIAT & - 19.  Which graph represents the uniform
acceleration —
t 1
L. DA
(a) g (b) e
(@) e (b) -
T
N -~ Y3 © @ =

When a body moves with a constant speed
along acircle

W9 DI fUs T 90 & Sfer Faa @ d afa 20.
PA1g, al

(3) 39 R DI B I8! fbaT T & (a) No work is done on it

(b) I H P13 @RI I 781 81Tl 5 (b) No acceleration is produced is the body
(C) T R B13 g0 B Tl HR & (c) No force acts on the body

(d) SHH1 AT RR T 8 (d) It velocity remains constant

e R & e Mared @t e W Te I
e g1 Merd &1 Siea o = 7 e &
foe fevr @) 9aQ Sier afast an v «ar e

ST A1fee?

(oTei aor 99 T8 )

() V= /2gR (b) V= gR
Ov=2_ (d)V =/g2R

Pl ATHBHIUT Sl SRl BT 22.

ATEEIT .

a1 ¥ 34fie gl @ wife:

(a) -TECIoM H 319 WX 8T p-Hed 8ld &

(b) 3fTad ROt & TH 3fTad H Ao
SRS & fore Bls & ol 5

(c) TS H SAdCHl &1 T HH Bt ©

(d) TrgroH HH faggda @

A small disc is on the top of a hemisphere of
radius R. What is the smallest horizontal
velocity v that should be given to the disc for
it to leave the hemisphere and not slide down
it? (There is no friction)

(a) V= ./2gR (b) V =/gR
©v=_ (d) vV =1g?R

The ionization energy of nitrogen is more

than that of oxygen because:

(a) Nitrogen has half filled p-orbitals

(b) Nitrogen is left to the oxygen in the same
period of the periodic table.

(c) Nitrogen contains less number of electrons

(d) Nitrogen is less electronegative
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RITRIo1H Full Length Test
[ "
23. A @ foud saifidia aaagaarasH@ @ | 23, Geometrical isomerism is possible in :
(a) UTdH (a) Propene
(b) 1,2-STSART ARG (b) 1,2—dimethyl cyclopropane
(c) 1-sg¢H (c) 1-Butene
(d) 2-=gc1gH (d) 2-Butyne
24. Tt g 9 &fes W 3T aiffpad Sa1s 24, The horizontal rang and the maximum height
TRIER Bl 21 Y&™T BT &Y HIvT @ - of a projectile is equal. The angle of
4 4 projection of the projectile is :-
(a) 0= tan71 (1/4) (b) 0= tano (4) (a) 0= tan—l (1/4) (b) 0= tan—l (4)
(c)6=tan" (2) (d) 6 =45 (c)p=tan* (2) (d) 6 =45°
25. 7 W 9T H QT 0P g=1 V Ufd A TH ¢ 25. A child travelling in a train throws a ball
9ER Bpdl g1 oW W @S TP 9= & outside with a speed V. According to a child
INR, g PR - who is standing on the ground, the speed of
'FITIT:I S the ball is -
() V?; (94 ﬁ 3 . (a) Same as V (b) Greater than V
() Vi®H (d) T & 1 Tel (c) Less than V (d) None of these
26. U fArATEa B 20 Hey/APS FURMUS AT S 26. A missile is fired for maximum range with an
1Y 3ifirepay T 9% SR et § afe g = 10 initial velocity of 20m/s if g = 10 m/s? the
Hiew/Awvs’ g, df frarsd &) W 8:- range of missile is :-
(@ 20m (b) 40 m (@20m (b) 40 m
(c) 50 m (d) 60 m (c) 50 m (d)60 m
27. A u A 5y aifte # ey s8I | 27 Which one of the following compounds does
(a) 2—FIRI g not possess a ‘chiral’ carbon?
b) 2- BIESIHR SLAIEH 3 (a) 2—chloro butane
EC)) SR S (b) 2-hydroxyl butanoic acid
- (c) Butanoic acid
(d) 3- T (d) 3—chloro butanal
28. UP HIYRY dlei 9T 3[GHGT & T dY 28. A simple pendulum is oscillating without
IET 2 9 g &1 faRe sitpaa A s9 & damping when the displacement of the bolls
N =P @R ARy 3 adar & Rarar war @: is less than maximum its acceleration vector
a is correctly shown in :-
E" M‘%J’L
a ; b
( ) ( ) (a) R (b)
j? ; '," ? L
€ - @ © X (@
29. U AmAfAe AMRF B} Sas SHel AR AT 29, Lattice energy of an ionic compound depends

?:

() DI I o SMTA TR
&) o e 8 g
(c) [ BT HHeH W
(d) 3Tl BT A 3R SMHR W

on:
(a) charge on the ions only
(b) size of the ions only

(c) packing of the ions only
(d) charge and size of the ions
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31.

32.

33.

34.

35.

36.

37.

R?.’..‘1,...2_...;1\.91‘,J,,\l. Full Length Test

30.

WU g & 1Y FWERR FU A FW Pt 3R d¢  30.  In an elevator moving vertically up with an

B T forve o, go0we m & U At gRT Rt acceleration g, the forced exerted on the floor
YR ST 7T 9 B: - by a passenger of mass m is :-

(2) mg (b) %2mg (a) mg (b) %2mg

(c) =H (d) *mg (c) Zero (d) *mg

% Sie o frd Rigia w) o1 Fvar 8:- 31. A jet engine work on the principle of :-

(2) SoTHT DT TRET (a) Conservation of mass

(b) Soif T TReT (b) Conservation of energy

(c) X TATT T TRer (c) Conservation of linear momentum

(d) IO T BT TRETT (d) Conservation of angular momentum

o1 & & fow T @1 gufufa & Sefi a@d, 32, The presence of which one of the following
%ﬁﬁi‘ﬁ [t ufaar" & ufa Ifea g wian groups on benzene nucleus activates it
|

towards electrophilic substitution?

(3) -CN (b) ~CHO (@) —CN (b) ~CHO
(c) —COOR (d) ~OCOR (c) ~COOR (d) —~OCOR
T o1 Jaifere Adpe Jay ¢ - 33.  The momentum is most closely related to —
(a) 9 (b) 3MTaT (a) Force (b) Impulse
(c) fad (d) Tt St (c) Power (d) K. E.
e yonfa & deq IR-fxneTs 8 34. In which of the species, the bond is non-
irectional?
(a) NHa (b) H,0 directional®
BF d) NaCl (8) NH (b) H20
(c) BFs (d) Na (©) BF; (d) Nacl
o b o o femar wan @, 2 fealura @si 35, A body of weight 2kg is suspended as shown
o1 S fUs deprgan gl e st A a1, in the figure. The tension T in the horizontal
(P - 4R T) 8- string (in kg — wt) is :-

30° T, %ﬁ h
T

2 Kg-wt E@ 2 Kg-wt
(@) 2/v3 (b) v3/2 (@) 2/V3 (b) V3/2
(c) 2v/3 (d) 2 (c) 2v3 (d) 2
O, F, N, Cl 3R H &t %zq%?ﬁwunﬂwn 36. The electronegativity of O, F, N, Cl and H are
PHRT: 3.5, 4.0, 3.2 3.0 3R 2.1 8, WA HSIgd 3.5, 4.0, 3.2 3.0 and 2.1, respectively, The
dY= B strongest bond will be:
(a) O—F (b) O-ClI (@) O-F (b) O-Cl
(c) N=H (d) O—H (c) N-H (d) O—H

ST 6 R A fEmar M 8, TR SR Al 37. The acceleration of system of two bodies over
st &1 @vur 8:- the wedge as shown in figure is :-

(a) 1 m/s® (b) 2 m/s? (a) 1 m/s? (b) 2 m/s®
(c) 0.5 m/s? (d) 10 m/s? (c) 0.5 m/s? (d) 10 m/s?
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38. T ps, p 3R pr V9w ovfor, g afor 38, If pu, weand pr are coefficients of statics fric-
3R AfeRT Tefor & ot €, <t - tion sliding friction and rolling friction, then

(3) Bs < p<pR (b) k< MR < s () Ks< M <HRr (b) k< PR < s
(C) MR <pk < Ws (d) MR = k= Ks (€) MR <pk < Hs (d) MR = Pk = Ks

39. Wwﬁx =4m A x = -2m d fARMAT 39 The work done by a force F = (-6 x* 1) N in

%ﬁﬁ T 9d F = (-6 x*1) N gRT foar a1 ord displacing a particle from x = 4m to x = —2m
:- s :-

(2) 360 J (b) 240 J () 360 J (b) 240 J

(c) —240 J (d) 360 J (c) —240 J (d) =360 J

40. W ¥ IHYHT SifeTSS B 40.  Amphoteric oxide which are in
(a) Zn0, K,0, SO, (b) Zn0O, P,0s, C|207 (a) ZnO, Kzo, SOg (b) ZnO, P205, CI207
(C) SnO,, A|203, Zn0O (d) PbOZ, SnO,, SO3 (C) SnOy, A|203, ZnO (d) PbOZ, SnO,, SO3

41, T 0=N=0:]* § O — wHmei &1 41. The formal charge of the O-atoms in the ion
ST TUR &: [[0=N=0:]"is:

(3) -2 (b)—1 (3) -2 (b)-1
(©) 0 (d) +1 © 0 (d) +1

42, RMRRIEKFAYTHB/THI x=0Fx= 42. A spring with spring constant K is extended

X, O derl T g1 forar mar it 39 yeR from x = 0 to X = x;. The work done will be :-
: (a) kx4 (b) ¥ kx4?

(a) kx? (b) ¥ kx;? 2

o s o © 2 kxg (d) 2 kxy

43. gfE AT 20% e faar =g of fast St ¢ 43. If momentum is increased by 20% then
7ol 8- kinetic energy increases by :-

(a) 48% (b) 44% (a) 48% (b) 44%
(c) 40% (d) 36% (c) 40% (d) 36%

44. HBr &1 fgya smyguf 2.6x107°° AW 8 3R 44.  The dipole moment of HBr is 2.6x10°° cm
SARURHATUGS 3R 1.41 A § | 3mafie auf &1 and the interatomic spacing is 1.41 A. The
wfa=ra &: percentage of ionic character is:

(3) 10.5 (b) 11.5 (8) 10.5 (b) 11.5
(c) 12,5 (d) 13.5 (c) 12.5 (d) 13.5

45.  yHigafees YuiHier fod w anuta &:- 45.  Thermoelectric thermometer is based on :-
(a) UDTR dggd UG () Photo electric effect
(b) Te® gHTd (b) Seebeck effect
(C) P UHET (c) Compton effect
(d) ST g1 (d) Joule effect

46. fopdlY fife @t o &rHaT 80 PRI 81 @ SHBT 46.  The thermal capacity of a body is 80 cal. then
WA qIgE B - its water equivalent is —

(a) 80 HARY/ U™ (b) 8 UM (a) 80 callg (b) 8g
(c) 80 T (d) 80 frcivam (©)80g (d) 80 kg

47. foumg ¥ sqae @) 9eR e & fw 47, Highest energy will be absorbed to eject out

IIdH Sell AN Pt wrett: the electron in the configuration:

(b) 1s°2s%2p°
(d) 1s°2s%2p*

(a) 1s°2s°2p"
(c) 1s*2s%2p?

(a) 1s°2s°2p*

(b) 1s°2s%2p°
(c) 1s%2s%2p?

(d) 1s%2s%2p*
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RITTo1H Full Length Test
Il i
48. MNP S S AHAAPHATTA TS @2  48.  Which is not true in case of ionic bond?
(a) I TAIh (@) High MP
(b) IAqH STA® Holl (b) Least lattice energy
(c) T8 9 JGgIIHUNEHT 3R ardt &l (c) It is formed between two atoms with large
A3 & o ST ] electro negativity difference
(d) SWRIga § q P el (d) None of the above
49. 100°C WX 1 U9 HTY 0°C R foa=t 9% fUgem 49.  1g of a steam at 100°C melts how much ice at
et 27 [@F BT W T = 80 HFARY/UTH 3R 0°C? [Latent heat of ice = 80 cal/gm and
UTY BT T AT = 540 HaAR/ATH] Latent heat of steam = 540 cal/gm]
(@ 19 (b) 2 9mH (@ 1gm (b) 2 gm
(c)49H (d) 8 9™ (c)4gm (d) 8 gm
50. g (P), fARU& 9gEE (T) ok o9 (d) ® 50. Equation of gas in terms of pressure (P),
e # 19 &1 g 8 - absolute temperature (T) and density (d) is —
Pro_ P PiTy _ PaTy P _ Py PiTy _ Pty
@t = e 0 =" @t = T b ="
Pid; _ Pad Pid; _ Pod Pidz _ Pady Pdy _ Padz
©- == )= == O == @ =
51. ardig Aqgad # 19 e T i gl 51.  In thermal equilibrium, the average velocity
f gas molecules is
T & FHu T2 & HIgUH 0
(@) _\I/_g % T (g) (a) Proportional to vT (b) Proportional to T*
(©) (d) TH (c) Proportional to T* (d) Zero
52. fafafed & @ 919 91 37 7194 8- 52.  Which of the following formula is wrong:-
(@ Cy=R/y-1 (b) Cp=yR/r-1 (@ Cy=R/y-1 (b) Cp =yR/r-1
() Co/ Cy=1v (d) C,— Cy = 2R (c) Co/ Cy =y (d)Cp—Cy= 2R
53. fufafed & 3 9ed $9 smierur St arar 53, The element having lowest ionisation energy
dd &: among the following is:
(a) 1s%, 2s%2p° (b) 15°, 25°2p®, 3s* (a) 1%, 2s%2p° (b) 1s?, 2s°2p°, 3s'
(c) 15, 2s°2p° (d) 1s%, 2s%2p° (c) 15, 2s%2p° (d) 1s%, 2s%2p°
54. 30°C TR SIferaw TRATY &Y 3N Tfast SHeif 54.  The average kinetic energy of a helium atom
gl e at30°C is
(a) 1eV I &Y (b) KeVIFHS (@) Lessthan1eV  (b) Afew K eV
(c) 50 — 60 eV (d) 13.6 eV (c) 50 — 60 eV (d) 13.6 eV
55. @I faggd &7 JaTa el S 55.  Which will not conduct electricity?
(a) STiT KOH ©Td (a) Aqueous KOH solution
(b) TS Nacl (b) Fused NaCl
(c) UBIZe (c) Graphite
(d) KCI 319 3a=y1 o (d) KCl in solid state
56. el YT BT AAN/AMMPR AU ITP! 56.  The charge/size ratio of a cation determines

yqur Sfa 31 Fufia svar 21 Pefiea 5 @
DI A1 B YA yerfad @ gdieRr
U & g¢d HH BT Uldi-Ia $3da1 g K,
Ca2+, Mgz+, Be2+?

@ ca®'< Mg2+ <Be? < k*

(b) Mgz+< Bez+ < K+ < Ca2+

(C) BeZ+< K+ < Ca2+ < Mgz+

(d) K+ < Ca2+ < MgZ+ < Bez+

its polarising power. Which one of the
following sequences represents the increasing
order of the polarising power of the cationic

species K, Ca2+, Mgz+, Be?* 2
@ Ca’'< Mg2+ <Be** <K*
(b) Mg®*< Be** < K* < Ca®*
(©) Be?t <K' <Ca® < Mg2+
(d) K+ < Ca2+ < M92+ < BeZ+

Branch Office : In Front of D.J. Hostel, Church lane, Near Anand Bhawan Prayagraj
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Il i
57. for ® fAUd 9@ W U onmeRf AW & gHIS 57.  The expansion of unit mass of a perfect gas at
SO &1 f[owR fle@mar mar 21 g8t - constant pressure is shown in the diagram.
Here —
: a
(6] b o .
(Z) 3 i : Ei ¢ (a) a=volume, b = °C temperature
(b)a= 03' Id, b = K'dra (b) a = volume, b = K temperature
(c) a="CdIYHM, b = ST (c) a= °C temperature, b = volume
(d) a = KdgHM, b = 3ad4 (d) a = K temperature, b = volume
58. WP WUMell W 3fid¥e Heil uf¥ddd foraR 2 58.  The internal energy change in a system that
e Hart wif #t sra=nfya farar 8 eiv 500 have absorbed 2 k cals of heat and done 500
J & 5 3:- J of work is :-
() 8900 J (b) 6400 J () 8900 J (b) 6400 J
(c) 5400 J (d) 7900 J (c) 5400 J (d) 7900 J
59. wIH ufehar & 1T Ted YA 3 - 59.  For adiabatic process, wrong statement is —
(2)dQ =0 (@) dQ =0
(b) dU = -dw (b) dU = —dw
(c) Q = Fadi® (c) Q = constant
(d) Tt fad =8t § (d) Entropy is not constant
60. U Widad! UM~ UiRacd=T & 60. In a reversible isochoric change
(2) AW =0 (b) AQ =0 @) AW =0 (b) AQ =0
(©) AT =0 (d) AV =0 (©) AT=0 (d) AV =0
61. g # A BT A aS &2 61. Which of the following is correct?
(a) SFo 3 TR G Bt & uﬁqz{ ol (@) The number o_f eIectr_ons present in the
. valence shell in SFg is 12
P12 3 _ : i (b) The rates of ionic compounds are very slow
(b) Sraf-ich TNfTepT 1 &3 wgel eieit & (c) According to VSEPR, SnCl, is a linear
(c) VSEPR & $J9R, SnCl, Tdh XRG& 3T § molecule
(d) 3 DT & I BT &FdT BT el HH (d) The correct order of ability to form ionic
+ 2+ 3+
Na' M92+ and AP is AP > M92+ > Na' coglpound;amonqr Na', Mg~ and Al is
Al” >Mg~ > Na
62. yufa: T¢ fivs & forg, swa! Sazmvr fH @ - For a perfectly black body, its absorptive
(a1 (b) 0.5 power is —
(c) 0 (d) 3Ed @1 (b) 0.5
(0 (d) Infinity
63. CO% AT U T BT Y Pife HU &: 63.  The bond order of carbon in CO%~ ion is:
@1 (b) 2 @1 (b) 2
(c) 1.33 (d) 1.5 (c) 1.33 (d) 1.5
64. @ fiSf A 3R B &1 amgaM 727°C 3R 64. The temperature of two bodies A and B are

127°C 1 faferur & Iqelq &1 o2 &7 3qurd
B'TTIT:-

(a) 727/127
(c) 1000/400

(b) 625/16
(d) 100/16

727°C and 127°C. The ratio of Rate of
emission of radiation will be :-
(a) 727/127 (b) 625/16
(c) 1000/400 (d) 100/16
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.
65. e &1 Maa- Faw aft gyt 9T ST 8 65 Newton’s law of cooling, held’s good only if
WIq a¥q 3N% uRaxr & o aTuHE & 3i6R 8- the temperature difference between the body
(@) 10°C A HH (b) 10°C & 3% and the surroundings is :-
100°C A Y . sfi (@) Less than 10°C  (b) More than 10°C
(©) (d) 100°CH (c) Less than 100°C  (d) More than 100°C
66. frafafEa s @ ged 4 vl & HHH 66.  Arrange the following molecules in order of
AR ¥ : decreasing bond angles:
SiC|4, BF;, BEC|2, Hzo, SF@ S|C|4, BF;, BeC|2, H->0, SF¢
(a) BeCl,> BF5;> SiCl,> H,O> SF¢ (a) BeCl,> BF3> SiCls> H,O> SF4
(b) SFe>H,0 >SiCl,>BF3>BeCl, (b) SFs>H,0 >SiCl,>BF;>BeCl,
(C) SiCl,>BF3>BeCl,> H,0> SFg (C) SiCl,>BF3>BeCl,> H,O> SFg
(d) H,O >SiCl,> SFs>BF;>BeCl, (d) H,0O >SiCl,> SF¢>BF;>BeCl,
67. B VDT U IWT g1 AT e feaTg i : 67. A red flower kept in green light will appear :-
(a) (b) e (@) Red (b) Yellow
(c) Fra (d) Ttha (c) Black (d) White
68. ufe fPdt Te fivs » 3= auw= W wH far 68, If a black body is heated at a high tempera-
ST o U1 Uelid gt &:- ture it seems to be :-
(a) (b) Thg (@) Blue (b) White
(c) e (d) FTem (c) Red (d) Black
69. Jt- | (e SR TR 11 (MY FHe) HT 69. Match List-1 (species) and List-11 (bond
e &3¢ ok Tdt W T: orders) and select the correct answer:
List-I List-11 List-1 List-11
(A) N, 1. 10 (A N, 1. 1.0
B O, 2. 20 B 0O, 2. 2.0
© F 3. 25 ©) R 3. 25
®) of 4. 30 () 0% 4. 30
(A) B) © (D) (A) (B) (®) (D)
@) 4 2 1 3 @ 4 2 1 3
(b) 1 3 4 2 (b) 1 3 4 2
) 1 2 4 3 ) 1 2 4 3
(d) 4 3 1 2 (d) 4 3 1 2
70. 341 r &1 U@ TH UTg BT M ST I&fid  70. - A hot metallic sphere of radius r radiats heat
$dl 8, 3! e o &:- its rate of cooling is :-
(a) r ¥ WA (b) r o FHIUT (a) Independent of r  (b) Proportional to r
(c) r* & FHTIAT (d) 1/r o FHUTC (c) Proportional to r* (d) Proportional to 1/r
71 SHMeTaHisRuafey = asin 2ant+«) 8 71.  The equation of S.H.M. is y = a sin (2mtnt + «),
o THY t TR SHBT TRT B:- then its phase at time t is :-
(@) 2m nt (b) « (@) 2m nt (b) «
(C) 21 nt + « (d) 2 it (©) 21 nt + (d) 2 it
72. fFafafea o @ frad qum snay wife 82 72.  Which of the following have identical bond
_ - + + order?
E;)) M (noz (i '()bl)\'? | (IV) CN () CN- (1) 0; (1) NO* (IV) CN*
© 1, IV OIRINI (@1, 111 (o) 1, 1
’  h © I, IV @1, 11, 1
Branch Office : In Front of D.J. Hostel, Church lane, Near Anand Bhawan Prayagraj
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73. W 3Mad g # fRAufawr ot fAwarfda #v3 73. The P.E. of a particle executing S.H.M. at a

74.

75.

76.

17,

78.

79.

1A HUT BT x g8 W Aga R 3:-
() Yam 0 X (b) %2 m v’ &’

(©¥mo’(@-x) (d)=

gfe daeR BT arelt u) @1 dgwr W @ S 74,

WY, 1 U8: -

(a) O & STt 8

(b) et & STt B

(c) P TET Bt &

(d) ®IE gRad el faardt 2

ﬁagr@aﬁﬁﬁaﬁwwﬁaﬁwqﬁ 75.
o'y

(@) NaCl > MgCl, > MgO > Al,03
(b) Al,O3> MgC|2 > MgO > NaCl
(c) Al,03> MgO > MgCl, > NaCl
(d) MgC|2 > AlL,O3 > MgO > NaCl

o d fdg A ok B & &t yutdt uferi - 76.
D
3Q 30
A

30 3Q
(a) 5Q (b) 2Q
(c) 3Q (d) 4Q
fagmidd o guas: 77.
() TS — ‘z‘g(:a, ‘;gK
(b) uIR® — '°0, 170, %0

(c) 99 Zae® - N>, 02, cr'®
(d) THgCIH® — igsi, iéP, iés

CH3-CH=CH, TR BrOH ST 3T, 3T 2 : 78.

CH3_CH_CH2BI'
@) OH (b) CHsCHBrCH,0H

(¢) CHsCHBRCH,Br (d) CH;CHOHCH,OH

gfe feu e uRuy # e &1 uregi® 2A 8, 79.

?ﬁuﬁﬁ?{R%:-
30
R
6Q
6V
|_
(a) 1 3| (b) 2 3iH
(c) 3 3| (d) 4 37

distance x from its equilibrium position is :-
(d) om0’ X (b) %2 m ©?a?
(€)Yam w®(@—x?) (d) zero

If a watch with a wound spring is taken on to
the moon, it : -

(a) Runs faster

(b) Runs slower

(c) Does not work

(d) Shows no change

The correct order of lattice energies of the
following compounds is:

(a) NaCl > MgC|2> MgO > Al,O3

(b) Al,03 > MgCl, > MgO > NaCl

(c) Al,03> MgO > MgCl, > NaCl

(d) MgCl; > Al,03 > MgO > NaCl

The effective resistance between the point A
and B in the figure —

D
3Q 30
A
3 30
(@) 5Q (b) 2Q
(c) 3Q (d) 4Q

Which one of the following pairs is correctly
matched :

40, 40
(a) Isotopes — 20Ca, 19K
(b) Isobars - 1°0, 1O, 1’0
(c) Iso electronics — N_s, 0°

30q; 31p 32
(d) Isotones — 14Sl, 15P, 168

+3
, Cr

The addition of BrOH on CH;-CH=CH,
gives :
CH3_CI:H_CH2BI'

@) OH (b) CH3CHBrCH,OH
(c) CHsCHBRCH,Br (d) CHsCHOHCH,0H

If the ammeter in the given circuits read 2A,

the resistance R is :-
30

R
6Q
6V
(@) 1 ohm (b) 2 ohm
(c) 30hm (d) 4 ohm

Branch Office : In Front of D.J. Hostel, Church lane, Near Anand Bhawan Prayagraj
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80. ufe Be TuH Jd FoFH ¥ wd® & fAgga 80.  If six identical cell each having an em.f. of

98P Id 6V & FHFR HH A I8 g R 6V are connected in parallel, the em.f. of
fagga arg® ga Ao & - combination is —
() 1V (b) 36 V @1V (b) 36 V
(c) 1/6 V (d) 6V (c)1/6 V (d6V
81. ﬁqwuﬁ‘wﬁ' URT g : 81. The current in the given circuitis :-
00 5V 10Q 5V
—MW— —W—
A B A B
20Q 200
2V 2
(@) 0.1 A (b)0.2 A (@) 0.1 A (b) 0.2 A
(c)0.3A (d) 0.4 A (c)0.3A (d) 0.4 A
82. (CH3);C-CH,OH & fefefiezur ¥ s99 arem 82, The major product on dehydration of
BT SWIG 3 : (CH3)sC—CH,0H is :
(@) (CH3),C=CH-CH3 () (CH3),C=CH-CHj5
(b) CHs—CH=CH-C;Hs (b) CH3-CH=CH-C;Hs
(c) (CHg)2CH-CH=CH, (¢) (CH3),CH-CH=CH,
(d) (CH3)3C:CH2 (d) (CH3)3C:CH2
83. U 3ATERI dleeHic HT UfARIY B - 83.  The resistance of an ideal voltmeter is —
(@) =R (b) dgd ®H (@) zero (b) very low
OEREIRED (d) ea (c) very large (d) Infinite
84. fayqumdt A fagyd ae® 3@ A & WY 140 84.  With a potentiometer null point were obtain-
It 3R 180 It W = fig wrw b wu ed at 140 Cm and 180 Cm with cell of e.m.f.
1.1V 3R TP 3 X diec| 3M3d fagga 1.1V and one unknown X volt. Unknown
qEH TA G - e.m.f.is -
@ L1V (b) 1.8V @ L1V (b) 1.8V
() 2.4V (d) 141V (c) 2.4V (d) 141V
85. U 3TeR Ad & 3fiaR® UfaAY FTAFGATE 85  The value of internal resistance of an ideal
(a) Ql:q (b) 150 cell is :-
)10 (d) 3rd (a) zero (b) 1.5Q
©1Q (d) Infinity
86. 39 fuferar & 86. In the reaction
CH; CH;
CH, \C—CH=CH2L21>A CHy——C—CH=CH, — 22,
CH, ' I@ECA’R: CH, ' the product ‘A’ is :
CH, £ CH, CHy
CH;—C—CH—CH, CH;—C—CH—CH, CHg—é—CH—CHz CH;—C—CH—CH,
(a) CH;Br  Br (b) Br éH3 }|3r (a) CH;Br l|3r (b) Br CH; Br
CH, Br CH; CH; Br (|?H3
CH3—é—CH2—CH2—éH CHZ—(|?—CH2—CH2—CH2 CH;—é—CHZ—CHZ—éH CH,—C—CH,—CH,—CH,
(C) éH3 l|3r (d) BI" (|3H3 ]|3r (C) CH; Br (d) Br CH; Br
87. UP HIA Tebld X UR 3NSI-IH0T Hed & af 87.  One mole of alkene X on ozonolysis gave one

T dia thifefsegs ok te Wi e
§41 8, & X BT IUPAC 919 §a13T |

(a) 2-TAfE-2-sg¢H  (b) 2-Tfyd-1-sgdH

(c) 2-5H (d) 1-sgEH

mole of acetaldehyde and one mole of
acetone. The IUPAC name of X is

(a) 2-methyl-2-butene (b) 2-methyl-1-butene

(c) 2-butene (d) 1-butene
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88. Jgnf W, auficgaiad U [E] o1 88 At neutral temperature, the thermoelectric
M EaTR - . power [g—ﬂ has the value —
(a) S1erwdd i AHRIED (a) Maximum but positive
OERESERIEEREINRE (b) Maximum but negative
(c) T (c) Zero
(d) =g7aY S THRIAD (d) Minimum but positive
89. WU-SI3 TiBRR A Far1 gfg gt § - 89. What is increased in step — down transformer
(a) fava (b) faggd 4rT (a) Voltage (b) Current
(c) Tfaa (d) ¥R T (c) Power (d) Current density
90. BISSIOM URHIY] & digX Hisd H, fAuaw ®&m 90.  In Bohr model of the hydrogen atom, the
WA 3 - lowest orbit corresponds to —
(a) 3Fd Sl (a) Infinite energy
OEIRELEET] (b) The maximum energy
(c) =AqH ol (c) The minimum energy
(d) I St (d) Zero energy
91. gISSIoE URHIY &I UYH A fgdflg Sfcta@ 91 The ratio of the energies of the hydrogen
SEARYT H Felt BT ST 3:- atom in its first to second excited state is :-
(a) 1/4 (b) 4/9 (@) 1/4 (b) 4/9
(c) 9/4 (d) 4 (c) 9/4 (d) 4
92. fA=feafad sra W foaR Fifv | 92.  Consider the following acids :
COOH COOH COOH COOH COOH COOH
L 1L 111 L II. 1L
OCH; NO, OCH; NO,
R | DI HT 3T BT IS HHE ? What is the correct order of acidity?
@ 1<I<Il Gy 1< 1<l @ 1<I<Hl ) 1< 1<l
@©1<n<l @n<ii<l ©1<<l @n<ni<i
93. TR YTl DI gul Ufdd BT T @ 93.  The colour of the second line of Balmer series
is :-
(8) e (o) the (2) Blue (b) Yellow
() drt (d) SR (c) Red (d) Violet
94. wid ¥ UBIR gRT TP A-IPs § a9 &t T 94 The distance travelled by light in glass (Refr-
& (SaeTiP = 1.5) ghft active index = 1.5) in a nanosecond will be :-
(a) 45 Tt (b) 40 T (a) 45 Cm (b) 40 Cm
(c) 30 9t (d) 20 T (c) 30Cm (d) 20 Cm
95. f=fafea g9iffe w faar #ifv) 95.  Consider the following compounds :
NH, NH,

©/CH2CH2NH2
1.

SR T T G ¥ eRaT FT IS FH RS -
@ 1> 11> 1l (0) 1> 1> 11
(c) I >11>1 (d1>1>1

) e

l. 1.
O/CHz(:HzNHz

1.

What is the correct order of basicity of the
above compounds?
@ 1>1u>1l
© m>I>l

() >1>1
(d 1>11>11

Branch Office : In Front of D.J. Hostel, Church lane, Near Anand Bhawan Prayagraj
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96. fr=iferfaa dife wR faar Fifsrg) 96.  Consider the following compounds :
COOH COOH COOH COOH
CH, CH,
1. 2. CH, 1. 2. CHj
COOH COOH
COOH COOH
NO, NO,
3. CH; 4, 3. CHs 4,
W 3T T 9iffe A HI9 Iq1 rerar &7 ged What is the correct order of decreasing of the
E'EW% ? acidity of the above compounds?

97.

98.

99.

100.

101.

102.

103.

104.

(@4>1>3>2
(c)3>2>1>4

(b)4>1>2>3
(d3>2>4>1

TP JUAdEd a9 (f = 20cm) &1 99q@ dd8 97
1R Ryear far mar 81 3 f gR:-

(a) 20 Tt (b) 40 Tt

(c) 30 Tt (d) 10 Tt
FrAfrfRa A FTFEHE 2 98.
(a) TiCls (b) TiCl,

(c) CrCls (d) VCI,

16 9 ATRile= A9 &1 fhd=T smaad g 99.
STP.WI

(a) 22.4 L (b) 44.8 L

(c)11.2L (d)5.6 L

3l Uaa o ST e hHR: +2D 9uT 4D 100.

2, Y g1 df Ao B fRT B

(a) —2D (b) +2D

(c) 4D (d) +4D

ol gduEur & SR G Wagd gl :- 101.

(a) FRR (b) ST T

CEIGESG! (d) ST 3

%Ts;ﬁuﬁ%ﬁa?ﬁmﬁmeﬁaﬁeﬁmm 102.
|

(@) 4.25 g of NH3 (b) 8 g of O,

(c)2gof H, (d) 4 g of He

Sed R o & wHg §d P MHR 103,

Iq@TeR FiI FIAT 5?7 THST PRUI TE &:-

(a) 3MTacH (b) WRTa<H

(c) Upivl (d) foaRma

o waTupe @t T siftrean g 2 104.

(@) 24 gms of Capy  (b) 56 gms of Fese)

(c) 27 gms of Alp7y  (d) 108 gms of Agios)

(@4>1>3>2
(©)3>2>1>4

(b)4>1>2>3
(d)3>2>4>1

A plano convex lens (f = 20cm is silvered at
plan surface. Now f will be :-

(@ 20 cm (b) 40 cm

(c) 30 cm (d) 10 cm

Which one the following is colourless?
(@) TiCls (b) TiCl,4

(c) CrCls (d) VCl,

The volume occupied by 16 g of oxygen gas at
ST.P.is

(@224L
(c)11.2L

(b) 44.8 L
(d)5.6 L

Two thin lenses whose power are +2D and
—4D respectively combined, then the power of
combination is :-

(@) 2D (b) +2D

(c) -4D (d) +4D

The solar spectrum during a complete solar
eclipse is :-

(a) Continuous (b) Emission line

(c) Dark line (d) Dark band

The compound that contains the maximum
number of atoms is
(a) 4.25 g of NH3
(C) 2 g of H,

(b) 8 g of O,
(d) 4 g of He

Why sun has elliptical shape on the time
when rising and setting? It is due to :-

(a) Refraction (b) Reflection

(c) Scattering (d) Dispersion

Which has maximum number of atoms ?
(@ 24 gms of C1zy  (b) 56 gms of Fese)
(c) 27 gms of Alp7y  (d) 108 gms of Ag(i0s)
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105. gg ward ‘fafirs 9 & 9H g« § W 105, The proposition 'equal volumes of different

106.

107.

108.

109.

110.

111. ¥

112.

ATIHH 3R gaTd IR GHH S # 3] g1 &
ECE]

EL))

(a)uaﬁ??rﬁuﬁwm

(b) TI-HTH BT TR

(c) @ &) IRBeTT

(d) T &1 Rgia

NaOH ¥ SffeiierT @t ufa=rdaar 9a1sv |
(a) 16% (b) 4%
(c) 40% (d) 8%

U 9g-saded U] §, §iF sicy Jsmsi
gr1 afvfa Fafafea o 3 5w wefta @ gaaia
aeﬁfﬂ?ﬁ@gﬂ &=t F rqufkufa & JuE FHel

i)y n=11l=0m=0
(i) n=2,1=0m=0
(iln=21=1m=1
(ivyn=31l=2m=1
(V) n=31l=2m=0
(@) (iv) and (v) (b) (iii) and (iv)

() (ii) and (iii) (d) (i) and (ii)
S-S AfHe 9 PeT B H@I dedl ©,

APy ot ¥Rl & dH4 &7 3idv:
(a) ST B (b) RR AT ®
(c) gear g (d) STHIA DI
Li* 3Ta9 & Ja a1 | Hivg sadgi i
f'@:l%mwrf g
( ) 4nsor ( )_4nsor
()_4ner ()_4nsr2
frafefad won i e/m T & dgd HH A
afRud B¥: gAT (e), (p), ST (n)
3R -PT (0)-
(@n,p,e a (b)n, a, p, e
(©)n,p,a,¢e (d)e,p,n, a
I forgd a9 Tedt S |, 18
Eﬁﬁ'ﬁsﬁ% TR
(a) Cu* (b) Th**
(c) Cs* (d) K*
Yrearedf fageT w faar &+
82A210 SV B—oC— 82Dzos
IS BT 3IHH 8l Jhal 3
(@) B.B.B (b) a,a.B
() B.B,y (d) B,B,a

106.

107.

108.

109.

110.

111.

112.

gases contain equal numbers of molecules at
the same temperature and pressure' is known
as

(a) Avogadro's hypothesis

(b) Gay-Lussac's hypothesis

(c) Planck's hypothesis

(d) Kirchhoff's theory

The percentage of oxygen in NaOH is
(@) 16% (b) 4%
(c) 40% (d) 8%

In a multi-electron atom, which of the
following orbital’s described by the three
guantum numbers will have the same energy
in the absence of magnetic and electric fields?
i) n=1,l=0m=0

(i) n=2,l=0m=0
([i)n=2,l=1m=1

(v yn=3,l=2m=1

V) n=3,l=2m=0

(@) (iv) and (v) (b) (iii) and (iv)

(c) (i) and (iii) (d) (i) and (ii)

As the number of orbit increase from the
nucleus, the difference between the adjacent
energy levels:
(@) Increases

(c) Decreases

(b) Remains constant
(d) None of these

The potential energy of an electron present

in the ground state of Li?* ion IS
( ) +47r£0r ( ) _47'rsgr
( ) _47r£0r ( )_4115 r2

Arrange the following particles in increasing
order of values of e/m ratio: electron (e),
proton (p), neutron (n) and a-particle (a)-
(@n,p, e, a (b)n, a, p, e

(©)n,p,0,¢e (d)e,p,n, a

An ion which has 18 electrons in the
outermost shell is:
(a) Cu*
(c) Cs*

(b) Th**
(d) K*

Consider, the radioactive disintegration
82A21O SB—>C— 82D206

The sequence of emission can be

(a) B.B.P (b) o0

(c) BB,y (d) B.B.a
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RITTo1H Full Length Test
e *
113. ,N“UR US o HUI gRI TP HAH Fqiaeor fbar 113, An artificial transmutation was carried out
T YT & U SRR A1fYS 3R TP e | on 7N** by an a particle which resulted in an
I T3 UTI SRR AU S A FHHH unstable nuclide and a proton. What is the
= ratio of the atomic mass to the atomic
3R TR 1 PTIT T &2 number of the unstable nuclide?
(c) 17/9 (d) 15/8 (c) 17/9 (d) 15/8
114. GRS & & QIR n/p SIUTd : 114. n/p ratio during positron decay :
(a) G g (b) TcaT ® (a) increases (b) decreases
(c) RR @A & (d) SWRIad Tt (c) remains constant  (d) All of these
115. U s &1 ufafAfia $33 arer I 8 115. The graph representing one node is
W W
yr w
I S——— N N~
(a) a (b) Ao (a) a (b) a0
W W
w W
— a L 4o
(©) 0 (d) % (©) (d) o
116. fA=fafad # ¥ &9 - 91 TP dgaiw dd # 116, Which one of the following acts as an anode
T FU A PRI HRaAT S | in the Leclanche cell?
OEIEES] (b) % s (a) Carbon rod (b) Zinc rod
(c) TH TS (d) TgfEaT B8 (c) Copper rod (d) Aluminium rod
117. ueq ¥ fA=fafad gear a8t feamar g1 117.  X-rays do not show the phenomenon of :
(a) faacH (a) Diffraction
(b) gdTepzur (b) Polarisation
(c) faggd &= g1 faamur (c) Deflection by electric field
(d) =fderor (d) Interference
118. Uep I EAYHT g BT ST Sita @ret 142 f& 118, The half-life period of a radioactive element
21 568 f&Y & qIg IH ad BT TP YTH YTH is 142 days. After 568 days one gram that
fa= g smeTm? element will reduce to:
@05¢g (b) 0.25¢ @05¢g (b) 0.25¢g
() 0.125 g (d) 0.0625 g (c)0.125 g (d) 0.0625 g
119. @I gAGRrSl Co*/Co dUT Fe?*/Fe & WM& 119. Standard reduction potentials of the two
YTy faya $HR: —0.28V U1 -0.44 V &l electrodes Co?*/Co and Fe*'/Fe are —0.28V
oY I ot da siffssar Co** + Fe— Co and —0.44 V respectively. The EMF of the cell
+ Fe?* g1, 39 Od &1 faggd 918® ad (EMF) for which cell reaction is Co?* + Fe— Co +
Hulll Fe*" will be
(@)—0.16 V (b)—0.72V (@) —0.16 V (b)-0.72V
() +0.72V (d) +0.16 V (€) +0.72V (d) +0.16 V
Branch Office : In Front of D.J. Hostel, Church lane, Near Anand Bhawan Prayagraj
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RAZTIo1H Full Length Test
’-_,:F H
120. qHT=gS:, HHHUT H TF 91T Y 3 120. Normally, the time taken in the transition is:

(@) Zero (b) 1 sec (a) Zero (b) 1 sec
(c) 10° sec (d) 10® sec (c) 10°° sec (d) 10°® sec

121.

122.

123.

124,

125.

UHIRIaggd UHTd &ada at giar g- o9
SMufad uT=r & gy v [fda =raw |
e gl 8

(a) Smafy (b) TReed

(c) Tifa (d) 3o

e At T R-GaRae ¥ 64 AT
3ftre fafezor I@fcfa ®2 @1 81 afe sueT
3Tyt Sfigq 2h €, @ fPaq g9y ¢ a8 -
QAT B STl 82

(a) 16h (b) 12h

(c) 8h (d) 4h

P Td A IURRIT FUEH uerd 21
() MgO, (b) MgO

(c) MnO; (d) Zn

531> B 3ref-3mg 40 7 81 WRfA® AEm &1
120 f& ¥ faweq & u=ard ufawra 9Em A9
R

(a) 33%
(c) 12.5%

U ISUNefeed @ $1 afegar 90 & #
12.5% e HH g1 ST 81 39P faued RRI$
PIAFE:
(@) 231"
(c) 30 = ?

(b) 25%
(d) 6.25%

(b) 2.31 =2
(d) 0.0231 2

121.

122.

123.

124,

125.

The photoelectric effect occurs only when
the incident light has more frequency than a
certain minimum:
(a) Frequency

(c) Speed

(b) Wavelength
(d) Charge

A radioactive sample is emitting 64 times
radiation than non- hazardous limit. If its
half life is 2h, after what time it become non
hazardous?
(@) 16h
(c) 8h

(b) 12h
(d) 4h

The cathodic material present in dry cell is
(a) MgO (b) MgO
(c) MnO, (d) Zn

The half-life of 53I135 is 40 days. After
decaying for 120 days of the initial quantity,
the percentage remaining quantity will be:

(@) 33% (b) 25%
(c) 12.5% (d) 6.25%
The activity of a radioactive element

decreases by 12.5% in 90 days. The value of
its decay constant is:
(a) 23.1day*

(c) 30 day*

(b) 2.31 day ™
(d) 0.0231 day*
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e

% 1 & foly ST
Space for Rough Work
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RW\ HI<lolF] Full Length Test
M "
3. | 9T- H fedl faaia & erfaRad, | 30 | No second question booklet shall be given to
fedr 1 Rafa & sl &1 &g gad any candidate under any circumstances except
W—W T &1 SuEr| gl @r any discrepancy in question booklet. The
RA-gRAHT B STAN # @ sk OMR candidate should be careful in handling the
STR-TFF B GRT B F A question booklet and filling the OMR answer

R | sheet.

4. | 3T B 125 YAl & IR WRA © | W | 4 | A candidate has to attempt 125 questions. All
geq g | Tadd SaR b folu the questions are compulsory. There is no
IPRIHAD 3h T8l I SRAT | negative marking for wrong answer.

5. OMR ScO¥—u3% &l 9 & q(\_cj' awgeff | 5. | Before filling the OMR answer sheet, the
STR-TA% R Hfed "Aeayu ke @ candidate should read carefully the important
LMD TS | instructions given on answer sheet.

6. |l &I fau U TR fdbedi § ¥ Uh | g | The candidate has to choose best suitable
Aqd AP Sugdd fddbed &1 GFT B alternative out of the four alternative given and
OMR S=R v3e # foy v fdargaR mark on the OMR answer sheet according to
GAT 2| the instructions given in the answer sheet.

7 | &= 1 aRRefd # uea—gRda®r @1 &% | 7 | In so case any paper from the question booklet
A BRI AT A8 BT B | should be separated.

g | ordl udem waq H yaw ¥ & AfdRad | g | The candidate shall not bring any loose paper
qreT AT for@m B IR BRTST A8 AT | whether written or black, except the admit
Ife dls i dis IAIRad HITS I, card inside the examination hall. If any
eI, boAgeIcy, TS Bol, AEISA B candidate is found having any loose paper,
SR ATy SR e v 6w T ST notes, books, calculator, slide rule, mobile
S a9y srg'i%lﬁ I TORT @ T phone etc. with him/her in the examination hall,
éﬁ@a R T T | he/she will be liable to be punished for used of

unfair means.

9 |9 I ®F H dHad YH-gRaHT & | g | All rough work should be done inside the
<X B BT B | question booklet only.

10. | D BT 9l U9 IR ¥R & fold WART | 10 | Only use black ball pen for filling answers.

PN |
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